
0, 5:

COOR

1: x010

x320

x030

x020

x110

x510

x530

x520

x310

x220

x210

x230

x410

2: y12c0

y11c0

2: y51c0

y41c0

y21c0

y42c0

2: y22c0

y14c0

y31c0

y13c0

2: y41c0 2: y12c0

5: x41∗

x21∗

x03∗

x02∗

x01∗

x31∗

x11∗

x22∗

x23∗

x32∗

x53∗

x52∗

x51∗

1, 4 → 2:

OPT

2: x41

x03

x02

x01

2: x03

x11

x01

x02

2: x53

x52

x51

x03

x02

x01

2: x22

x02

x01

x21

x03

x23

2: x31

x32

x02

x01

3: x41

x31

x32

x11

x53

x52

x51

x03

x23

x21

x02

3: x52

x32

x53

x41

x51

x03

x23

x01

x22

x02

3: x41

x31

x32

x11

x53

x52

x51

x22

x23

x01

x21

x03

x02

2:

D4

3: y42

y43

3: y42

y43

y41

3: y42

y43

y41

2:

D1

3: y14

y11

y13

y12

3: y14

y11

y13

y12

3: y14

y11

y13

y12

2:

D5

3: y51

y53

y52

3: y51

y53

y52

2:

D2

3: y21

y22

3: y21

y22

3: y21

y22

2:

D3
3: y31 3: y31 3: y31

5: g2∗ 4: g2
3:

G2

5: g1∗ 4: g1
3:

G1

5: f∗ 4: f
3:

F


